E+n x 10"

341

E+3

x 1000

(ko/ )

(kg/

)

4.3E+0

4.3

4.3

9.0E-1

0.9

2.0E-1

1.5E+0

1.7

2.6

Olo|N|o|O||lwWIN]|F-

=
o

[
[N

=
N

2.3E+2

2315

2315

=
w

7.9E+3

7,900.0

7,900.0

=
~

7.5E+1

75.0

75.0

[y
[$3]

5.4E+2

542.0

542.0

=
»

[
~

1.1E+3

1,100.0

1,100.0

[N
[e2)

=
©

N
o

N
[y

19E+1

19.0

13E+1

13.0

32.0

N
N

N
w

N
~

N
ol

N
»

N
~

N
(o]

19E+2

190.0

2.7E+4

27,417.0

27,607.0

N
©

w
o

w
e

w
N

w
w

1.0E+3

1,000.0

1,000.0

w
~

w
ol

25E+1 2.9E+2

315.0

14E+4

14,014.0

14,329.0

w
»

w
J

w
@

w
©

IS
o

5.3E+1

53.0

9.0E+2

900.0

953.0

~
=

N
N

8.8E+2

15E+3

2,380.0

2,380.0

N
w

~
~

11E+1

11.0

11.0

N
(8]

IS
<)

~
b

45E+2 15E+3

1,909.4

1.8E+3

5.2E+4

54,258.0

56,167.4

[N
N




